Essem
Design

Stativset dubbel Nostalgi klédstdll grund
Tillbehor till Nostalgi hatt- & skohylla fr att fa ett fristdende dubbelsidigt kladstall

Innehall:

1 st. Vanster- & 1 st. hdgerstativ, 2 st. stag, 1 st. beslagspdse (4 st. stéllfstter, 6 st. 30x40 éndplugg, 4 st. Téckpropp, 4 st.
M10 skruv, 1 st. insexnyckel, 16 st. M6 skruv, 16 st. skruvhattbricka och 16 st. skruvhatt)

Monteringsanvisning: (se éven bild nedan)

1.

Mo

o O

Tva personer for att montera rekommenderas. Verktyg som behdvs &r sticrnskruvmeijsel och liten
sparskruvmejsel. Testskruva alla géngor férsiktigt innan montage.

Montera stillfstter och 30x40 dndplugg pé véinster- och hdgerstativen. Har ni képt till golvidsten s& se
bifogad anvisning.

Om det ska vara inklusive p&byggnadsdel, se bifogad anvisning fér detta. Annars hoppa &ver denna.
Montera stag mellan vénster- och hégerstativ uppe och nere med M10 skruv och insexnyckel. Dra inte at
skruvarna férrén allt Gr monterat. De stora hélen pé stativen ska vara utét.

Om det ska vara inklusive spaljéset, se bifogad anvisning for detta. Annars hoppa éver denna.
Oppna upp Nostalgi férpackningen och montera konsolerna pé stativen med skruvhattbricka och Mé
skruv. GI&m inte skruvhatten f&r dold skruv.

Trd p& ankarkrokarna pé rundstavarna sé som &nskas. Ni behdver inte séitta fast dem @n. Satt ditt
rundstavarna mellan konsolerna.

Dra dt stagen ordentligt. Dra varannan sida fér att det inte ska bli skevt. Tryck ditt téickproppen efter.
Skruva ditt stoppskruvarna pa konsolerna och ankarkroken.

+46(0) 371 19410
info@essem.se
WWw.essem.se


mailto:info@essem.se
http://www.essem.se/

Essem
Design

Set of stands double — Nostalgi coat stand
Accessories for the Nostalgi hat and shoe rack to make a free-standing double-sided coat stand.

Contents:

1 X Left & 1 X Right upright, 2 X horizontal braces, bag of fittings (4 X feet, 6 X 30x40 end plugs, 4 X cover caps, 4 X M10
bolts, 1 X hex key, 16 X Mé6 bolts, 16 X bolt head cover washers and 16 bolt head covers)

Assembly instructions: (see also image below)

1.

2.

3.

o O

0 ©

We recommend assembly is a two-person job. Tools required: a crosshead screwdriver and a smalll
slotted screwdriver. Carefully test screw in all bolts before assembly.

Attach the feet and 30x40 end plugs to the left and right uprights. If you have bought floor fixings, please
see attached instructions.

If additional accessories are included, please see attached instructions for these. Otherwise jump to next
step.

Affix the upper and lower braces between the left and right uprights with the M10 bolts and hex key. Do
not fully tighten the bolts until everything has been assembled. The large holes in the uprights should face
outwards.

If a trellis set is included, please see attached instructions for these. Otherwise jump to next step.

Open the Nostalgi packaging and mount the brackets onto the frame with the M6 bolts and head cover
washers. Do not forget the head covers for the concealed bolts.

Insert the anchor hooks on the round bars into the desired positions. You do not need fo tighten them yet.
Insert the round bars between the brackets.

Fully tighten the braces. Tighten both sides to ensure it is not crooked. Press the cover caps into place.
Tighten the adjustment screws on the brackets and anchor bolts.

+46(0) 371 19410
info@essem.se
WWw.essem.se


mailto:info@essem.se
http://www.essem.se/

